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TIME AND WORK

16.UP P! H ST UTSU § | UTSY A T Bl WA 16. There are two pipes in a tank. Pipe A is for
& foe g 3R U3y B P! Bl WIell A & filling the tank and pipe B is for emptying

forg 31 afe A &t &t 10 9 F R FFHa1 B the tank. If A can fill the tank in 10 hours
3R B @I B 15 U H Wrelt B IPHa1 ¢ al and B can empty the tank in 15 hours then
el E’l‘éﬁfﬂﬁﬁt{ﬂm WA H fpaq e how many hours will it take to completely
SRILIF: fill a half empty tank?

a) 30 Y¢ a) 30 hours AV -z P L\ %

b) 15 °¢ by 15hours [ —-\§’L\ 3ol
c) 20 4¢ c¢) 20 hours -

d) T9H | I 8l d) None of these A‘H} ——



TIME AND WORK

17.W?ﬁﬁiﬂ?qak8&ﬁ'{ctlaéﬁﬁ 17. There are three taps A,B and C in a tank.

PH: 10 Ue, 20 e 3R 25 4 # WX 9Hd ¢!
wad tgd 3 9t ve Wiy @i oa g1 v 2 Wl
F G, AAC P dC P RATAET MR A 3R B
®! 919 TG W1aT 8| 9 4 F 91g, 99 B Bt i
dc &Y feur wirar 81 A 1 AP 99 A gRI
frar ST 81 79 A gRT WU B2 M I @

ufowra yra Biford - 2 VYA K/.

a) 32% 13- " XG/; v/

b) 52%

¢) 7 2_8/ ) 75% (a
ﬁ%ﬁqﬁ ﬁ\.‘" Weofthese

They can fill the tank in 10 hrs, 20 hrs and 25 hrs
respectively. At first, all of them are opened
simultaneously. Then after 2 hours, tap C is
closed and A and B are kept running. After the
4th hour, tap B is also closed. The remaining
work is done by tap A alone. Find the
percentage of the work done by tap A by itself.

a) 32%
b) 52%




TIME AND WORK

18. UTSU A 3R B US WY WIaA R UH SHI B! 18. Pipe A and B running together can fill a

sﬁwﬂmm?mﬁnﬁz‘aﬁuﬁﬁ cistern in 6 min. If B takes 5 min more than

A ¥ 5 e aiftre vrar @ ot A 3R B gRT A to fill the cistern then the time in which A
THI B AAT-AT WA H HAN: fHa-n and B will fill the cistern separately will be
UG T respectively?
A4B — G Jz %
AR Sy

a) 15fFe 20fme A — X % a) 15min, 20min :
\})/IOMJSW R ‘—’\+§ (_b)/ﬁ)min,ﬁmin A % M'U'\

c) zoﬁ'ﬁz, 25f=e -L ¢) 20min, 25min E\_ N+ W\(
d) 379 A BIg T8l \ )ﬁg d) None of these ( S) \1
—+1 = |
Ao b o3l ARG 7
o ' :
3443
=l
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TIME AND WORK
19. TS UTZY guY U139 &I a1 § i+ 1 deit

fraey @t @t 31 36 AT § YR 9Fd

£ @ 9 urzy 3 > cH B WA A

fa=r gug v m

a) 14er21
b) 149cT48

fie
fie

19. One pipe fills a water tank three times

faster than another pipe. If the two pipes
together can fill the empty tank in 36 min,
then how much time will the slower pipe
alone take to fill the tank?

e 1
a) 1Th21 min .
b) 1h4asmin AL | A

c) 2h

\})/Zh24minl+ﬁ\ (1“:
Eéx‘{awy,{f













TIME AND WORK

20. afe 12 et 3R IGWWmﬁS 20. If 12 men and 16 boys can do a piece of

fet # ®% aa €, 3R 13 et 3R 24 work in 5 days, and 13 men and 24 boys
dsr JWafAI AR IPAd § @ & can do it in 4 days, compare the daily
et g1 fpe e e il #t gE Ue work done by a man with that done by
asd grI fvy 1Y e ot | S 2  aboy?
'\’@
GoMT - |2 MtLléR- B)
a) 12 a) 1:2
b) 1:3 glM’kﬁSB b) 1:3/)’3 /»1-(.2\1‘& \_7
\/9)/2:1 21 L >

d) 3:1 éMH‘@B: 5 M+$6,}
EM ~— 16&

N
l

R

d) 3:1



TIME AND WORK

21. 3 3TGHI TP HTH B 6 fe=1 # T & & d
g1 5 ufgand It & &t 18 AT & @
I GFdl &1 4 TIY IR 10 uiAnw
fireey It o @t fFaa A & @@

BN

R

b) 5fe=
o 2=
d afé=

“\‘M—HD"\J 4
UXE —oX) =

S o
{D

D

=3 bwp_

21. 3 men can complete a piece of work in 6

days. 5 women can complete the same

work in 18 days. In how many days will 4

men and 10 women together complete the

same work?

\})/3‘ days

b) 5 days
c¢) 2days
d) 4 days

\KX$9°

s —6E)

S W \-{&D &‘70\/\)
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29. s Afed faft &rd &1 7/8 unr 21 = o
W1 FaT 21 afe s 50% A F21 & &Y

TIME AND WORK

@ I8 W T I A IR e R

~g

a) 24
b) 21
c) 18

UPSC PT 2021

36D 21D

= IS‘D>

A

29. A man completes 7/8 of a job in 21 days.
How many more days will it take him to
finish the job if quantum of work is further
increased by 50% ?

UPSC PT 2021

a) 24 %‘/*\1\5\ 2 21D

b) 21

o s | W — 21 2XE
l+l':3 ' 3
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30. 24 U%Y ¥ 12 #igemy faht ard 1 30 30. 24 men and 12 women can do a piece of
fe=i d % 9®a 81 12 gy 3R 24 wfgwng work in 30 days. In how many days can12

wmﬁmﬁﬁﬁmmb men and 24 women do the same piece of
UPSC PT 2022 work?

UPSC PT 2022
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